3anuncb paBEHCTB.
Co4yeTaTenbHOE U
nepemMecTUTENbHOE CBOUCTBA
croXeHud. PelueHne 3aaau.



Cc. 5 Ne8
YCTHO



1 cnnocob
98 —52-40 =6 (M.)

2 criocob
1) 52+40=92(m.)
2) 98-92=6(Mm.)



Ceoucmea c/1o)KeHUusi:
coyeTaTenbHoOe
nepemMecTtutesibHoe



+ = 23

Morna nu JleHa nony4nTb YMCno 23,
CITOXXMB ABa ABY3HAa4YHbIX Yncna?



43
73
61

73
53
81

23
46
82



Cc.7 Ne17
YCTHO



TIMO c. 3 Ne1
CaMOCTOATENIbHO



OOMALUHEE SAOAHUE

c. 6 Ne10, 15, 16



* ABTOp: BbloHKOBa EneHa
BacunbeBHa, y4nTenb HadanbHbIX
KNaccoB.



